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Topic:- ECO Ma 52

1
t

| Consider independently and identically distributed random variables Xy, _ . ., X with values in [0, 2]. Each of
hese random variables is uniformly distributed on [0, 2]. ¥ Y = max{¥, ..., X}, then the meanof ¥ is

[Question ID = 5844]

- [mfim + 1)) [Option i - 2337]
- nfZpn + 1} [Opeion 1D = 23371

1
X
L
4

Imdn + 1) [Dption 1D = IYITE)
. mfm + 1} [Option 1D = 2337)

Correct Answer -

& Infjn+ 1| [l:':l|:||:||:r| D= .U-]J'II

2) A coin boss has possible outcomes H and T with probabilities 3/4 and 1/4 respectively. A gambler obierves a sequente
of tosses of this coin until H occurs. Let the first H occur on the n™ toss. If n is odd, then the gambler's prize is -2%, and

if n i even, then the gambler's prize is 27 What is the expected value of the gambler's prize?
[Question ID = 5845]

1. 1 [Option |0 = 23174]

- 1 [Option 10 = 21175]
3. 1 [Opticn |0 - 23176]

- 3 [Option B - 21377

Correct Answer -
% -1 [Option IO} = 23375)

3) Suppose two fair dice gretessed sirmultaneatsly—Whatisthe prababiiby that the tetal pesmber ol spots on the upper

faces of the two dice is nojt divisible by 2, 3, or 57

[Question ID = 5846]

. 1/ [Option 10 = 23178]
. 2% [Option 1D - 13379]
. 4/% [Option 1O = 11380]
. 7/16 [Option 1D = 21181)

.hl.-H—-

Correct Answer -

& 1/9 [Option I - 13179]

4) A student is answering a multiple-choice examination. Suppose a guestion has m possible answers. The student knows
the correct answer with probability p. I the student knows the correct answer, then she picks that answer; otherwise, she

picks randomly from the cholces with probability 1/m each. Given that the student picked the correct answer, the
probability that she knew the correct answer &

[Question ID = 5847]

1. mpd[1 = im - 1)) [Opticn 1D = 23382)

. mpi[1 = (1 - pim] [Option 1D = 23381]

1. 01 - pi/[1 = im - 1hp] [Option iD= 21384]

4. (1 -pi[1 = {1 - pym] [Option iD= 23385)

Correct Amswer =-
® mpd[1 = im - 1] [Opticn 1D = 23383]

5) Suppose ¥ is a random variable with uniform distribution on [0, 2]. The value of the cumulative distribution function of

the random wvariable X =eY atx & [1, ef] i

[Question ID = 5848]
1. 2V in x [Option i = 21384]
2. 4 inx- 3 [Cption ID - 2137)

1. Inu [Option i = 21388]
4. nw -1 [Opticn ID = Z3589)

Correct Answer -
a 1! I.|1:-|[I'.'h:-1.1|:|r|.ID IJJH]

6) Consider an econamy where the final commodity is produced by a single firm using labour only. The price-setting firm
charges a 25% mark-up over its per unit nominal wage cost. The workers demand a real wage rate WiP = (1 - u), where u
is the unemployment rate, P i the price, and W is the nominal wage rate. The natural rate of unemployment in this

oo e
[Question ID = 5849] www.FirstRanker.com

1. 0% [Option 1D = 213%0)
T 174 [Option ID = 211%1)
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71 The aggregate production function of an economy is Yy = (KL)"2, Capital grows according 0o Ke.q = (1 - 8) Ky & Sy,
where 5 = 5¥y, Ly = ¢, 5 i the saving rate, & is the depreciation rate and ¢ is the total population. Then, the steady-state
level of consumplion per capita is

[Question ID = 5850)
1. =/

[Option 1D = 21154]
r s

[Option Ib - 21195)
3. EI':

[Cotion 1D = 23154
4. 5(1 -51/6

[Opticn 1D - 21157]

Correct Answer =-
& gjl -5)fd
[Ogticn 1D - 21157
8) Consider a production technology ¥ = AL, where ¥ is output, A is prodectivity, and L is labowr input. A firm sets its
price P at a constant mark-up p over the effective wage cost per unit of production W/A. The expected real wage rate of
workers is WP = A%(1 - u)", where 0 < a < 1 and P* is the expected price. If the price expected by workers matches
the actual price level, then the effect of a rise in the level of productivity on unemployment s

[Question ID = 5851]

1. posittve

[Option b = FY5E]
I negative

[Ootion 1D = 233545

i zero

[Option Ib - 21400]
4. ambiguous

[Option 1D - 23401]

Correct Answer -
& negative

[Ootion 1D = 233545

) A household has an endowment of 1 unit of time. The household maximises its utility u = In ¢ = b Inf1 - 1), where ¢
denotes consumption and | @ [0, 1] denotes time spent working. It finances its consumption from labowr income wl, where
w s the market wage rate per unit of labour time. If the market wage rate goes up, then equilibrium labsur supply of the
hous ehold

[Question ID = 5852)

1. increases

[Cotion 1D = 23407
I decresses

[Cotion 1D = 21401
1. remains constank

[Opticn iD - 21404]

4. changes in an ambiguows manner
[Option iD= 21405

Correct Answer --
& remains constank

[Option ID = 21404]

10} Consider the I5-LM model with a given pmm creasing function of the interest rate and
savings is an increasing function of i s i balances MAP is an increasing Denction of

aggregate income and a decreasing function of the interest rate. The monetary authority chooses nominal money supply M
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1. arise in equitibrium cutput [Option 10 = 23406] www.FirstRanker.com www.FirstRanker.com

I, afall in equilibrium output [Option 1D = 23407
1. mo effect on equilibrivm cutput [Option D = 23408)
4. an ambiguous effect on equilibrum cutput [Option 1D = 234040

Correct Answer -
& a fall in equilibrium output [Option ID - X1407)

11} Consider the Solow growth mosdel with a given savings ratio, a constant population growth rate, rero rate of capital
depreciation, and no technical progress. Let k* be the steady-state capital-labour ratio in this economy. Suppose the
economy s yet to reach the steady-state and has capital-labour ratio ki at time t; and capital-labour ratio ks at

time tz, such that t < ty and k; = kz < k*. Let the associated growth rates of per capita income at time t; and tz be g and
g3 respectively. Then, by the properties of the Solow model,

[Question ID = 5854]
Lm<m
[Opticn ib - 21410)
g
[Option D = 21411]
L me-m
[Opticn Ib - 21413
4. the relationsinp between gy and g3 = amibiguous

[Cotion 1D = 2341%)
Correct Answer --
* @@
[Cotion 1D = 23411]

12} A consumer lives for
pl™" I €x. She earns ince
F) Ve, where r is the in

1 and 2. Given consumptions ¢ and ¢z in these pericds, her utilipy U =Inecj = (1 =
wii and wy in the two periods and her lifetime budget constraint iscp + (1 = r)'exr = wi + (1 +
est rabe on savings. If r = p, then

[Question ID = 5855]

1. oy> iy
[Option 1D = 23474)
I o<
[Option ID = 21415)
L 0=
[Ootion 1D = 23414
4. The relatiorstvip between o and cz 15 ambiguous

[Option ID = 23417

Correct Answer -
& 0y < i3
[Option 1D = 23471%5)

13} A consumer lives for periods 1 and 2. Her lifetime witility function ks Ujc,, ;) = |:{'lr+ EI:IH." where 0 <y < 1 and ¢ is
)
consumption in period i, The elasticity of substitution between consumption in period 1 and consumption in period 2 is

[Question ID = 5856]

1. T+

[Option ib = 21418
1=y

[Option iD= 2141%]
- 1N = w)

[Option 1D = 21400
4. 1101 - i

L

[Opticn iD - 21421]

Correct Answer -
- 1 -y www.FirstRanker.com

[Opticn iD - 21421]
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.ﬂF mamlemm:h i.e., the first to win four games will win the match. The tweo

l ] Iﬂ ¥ ; ar.r.he games in the match. The probability that the match will end in 6 games is
¥ hREPENEiTY www.FirstRanker.com www.FirstRanker.com

[Question ID = 5857]

1. bess than the probabibidy that it will end o Ig.:ml:s

[Cotion 1D = 21437)
I_ equal to the probability that it will end in 7 games

[Option ib = F1401]
3. greater than the probabality that it will end in 7 games

[Ootion 1D = 21434
4. Mone of these

[Option b = F1405]
Correct Answer -
& oqual to the probabiity that 1t will emd in i"garru:i

[Opticn iD - 21401]

15) Let X and ¥ be jointly normally distributed, i.e., (X1~ ¥y, w0805 81

W 5l = of @nd o< pci, then

[Question ID = 5858]
1. thee OLS regression of ¥ on X will yield a slope that is less them unfty, and that of X on ¥ will yield a slope greater than umity

[Option B = F1406]
I_ e OLS regression of ¥ on X will yield a slope that & less than unfty., and that of X on Y will yield a siope less than wnity

[Option D = 33427]
3. the OLS regression of ¥ on X will yield a slope that is greater than undty, and that of X on ¥ will yield a slope bess than umity

[Opticn 1D - 2140%]

4. it is not possible b draw clusions abowt the magnitude of the slope with the ghven information
[Option D = Z343%]

Correct Answer -
w the OLS regression of ¥ on X il yield a slope that & less than unity. and that of X on ¥ will yield a siope less than ity

[Option 1D = 23427]

16} Let - denote the negation of a statement. Consider a set X and a binary relation » on X. Relation > §s said to be
irreflexive if -x » x for every x & X. Relation » is said to be transitive if, for all =, 5, z @ X, 2 > y and y >  implies x » z.

If * is asymmetric (Le., for all x, y @ X, 2>y implies -y > x) and negatively transitive [ie, forallx, vy, z @ X, x>y
implies x * 2, or 2 ¥y, or both), then* is

[Question ID = 5859]

1. irreflexive, but not transite

[Ootion 1D = 23430

¥ trarsitbee, but not irmeflexese

[Cotion 1D = 23417]
1. irreflexive and transitive

[Option il = 23433
4. neither transitive, nor irreflecte

[Cotion 1D = 21417
Correct Answer --

# irreflexive and trarsitive
[Option ID = 21433]

17} Let - denote the negation of a statement. Consider a set X and a binary relation » on X. For all x, y @ X, we say x »

if and only if -y » x. Relation ¥ is said to be total if, for all =, y @ X, -x > y implies y » x.

H > is asymmetric (iLe., for all x, y @ X, x > y implies -y > x) and negatively transitive (i.e. forallx, y, 2@ X, x>y
implies x ¥ 2, or 2 ¥ y_ or both), then >

www.FirstRanker.com

I is eokal
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4. is not total over a nonempty subset of X
[Ootion 1D = 21417

www.FirstRanker.com www.FirstRanker.com

Correct Answer --
& is Eokal

[Option ID = 21415]

18} Let - denote the negation of a statement. Consider a set X and a binary relation > on X. For all x, y @ X, we say x »
if and anly i -y » x. Relation ¥ is said to be transitive if, for all =, v, = @ X, x 3 y and y > 2 implies xp 2.

I > is asymmetric (i.e., for all x, y @ X, x>y implies ~y > x) and negatively transitive (Le., for allx, y, 2 @ X, x> y
implies x » 2, or 2 » v, or both), then

[Question ID = 5861]

1. ts not transitive over a nonempty subset of X

[Cotion 1D = 21408
I is miot transitive

[Option il = F1414%]
1. may not be transitive

[Option 1D = 234400

4. iz transitive
[Option ID = 21441]

Correct Answer -

& s transitive

[Option ID = 21441]

ion of a statement. Consider a set X and a binary relation = on X, For gll x, y @ X, we say x = §
> x. Relation = is said vo be transitive if, for all x, y, 2 @ X, x = y :ll'u'.:lr = Z implies x = Z,

19} Let ~ denote the n
if and only il ~x >y and

If > is asymmetric (i.e., fof all x, y @ X, = > y implies -y > x) and negatively transitive (i.e., foralllx, y, 2@ X, x>y

implies x » 2, or 2 * v, or poth), then =

[Question ID = 5862]

1. 15 ransitive

[Option B = F14a0]
I_ it mot transitive

[Ootion 1D = 2344%)
3. may not be transitive

[Option ID = 33444
4. is not transithne over a nonempty subset of X

[Option ID - 21445]

Correct Answer -
# it transitive

[Option 1D - 21442]

20) Let - denote the negation of a statement. Consider a set X and a binary relation > on X. Forallx, y @ X, we say x =y
if and only if ~x >y and -y > x. Relation = is said to be symmetric if, for all x, y @ X, x = v implies y = x.

If > is asymmetric (i.e., for all x, y @ X, x > y implies -~y > x) and negatively transitive i.e., forallx, y, 2 @ X, x>y
implies x » 2, or 2 » ¥, or both), then =

[Question ID = 5863 ]
1. s symemekric

[Ootion 1D = 2344
2. s not symmetnic

[Option ID = 23447
3. may not be symmetric

“TCRtion 10 = JILax]

4_ 1sminmmirtmammptymtn1'x

www.FirstRanker.com
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21) Consider the following game for players 1 and 2. Player 1 moves first and chooses L or R. W she chooses L, then the
game ends and the payolfs are (1, 0}, where the first entry is 1's payoll and the second entry is 2°s payolf. If she chooses
R, then 2 chooses U or D. If she chooses U, then the game ends and the payofls are (0, 2). If she chooses D, then 1
chooses L or B. If she chooses L, then the game ends and the payolfs are (4, 0). I she chooses R, then the game ends and
the payolls are (3, 3). This game has

[Question ID = 5864]

1. ome Hash equilibrivm in pure strategies [Option B0 = 2 3450]

I. two Mash equilibria in pure strategies [Option 1D = 23451)
3

. three Maszh eqguilibria in pure strategies [Option B = 23453]
4. mo Mash equilibria in pure strategies [Opticn 1D = 23453)

Correct Answer --

® two Mash equilibria in pure strategies [Option D = 23451]

21) Consider the following game for players 1 and 2. Player 1 moves first and chooses L or B, If she chooses L, then the
game ends and the payofis are (1, 0), where the first entry is 1's payofl and the second entry is 2°s payofi. If she chooses
R, then 2 chooses U or D. If she chooses U, then the game ends and the payolls are (0, 2). If she chooses D, then 1
chooses L or B. If she chooses L, then the game ends and the payolfs are (4, 0). I she chooses R, then the game ends and
the payolls are (3, 3). This game has

[ﬂmﬂhﬂn ID = 5865]

onie subgame perfect Mash equilibrium [Option 1D = 23454)

- two subgame perfect Mash equilibria [Option 1D = 23455)
. three subgame perfect Mash equilibra [Option 1D = 23454)
4. no subgame perfect Mash equildbria [Option D = 23457)

I.-'Fl'—'

Correct Answer --
® one subgame perfect Mash equilibrium [Option 10 = 31454

23} In a non-cooperative game, if a profile of strategies
[Cuestion ID = 5866
. itsa Mash eguilibrium, then if is an eguilibrium in dominant strategies [Option 1D = 23458)

1

I_ is a Mash equilibrium, then it]is a subgamse perfect equilisrium [Option 1D = 31459)
3. is a Mash equilibrivm, then it]is 2 sequential eguilirium [Option 1D = ¥3480)
4

- is an equilibrium in dominant strategies, then it & 3 Nash equilibrium [Option B = 23461]
Comect Answer -

® i5 an equilibrivm in dominant strategies, then it & a Mash equilibriom [Option D = 33461]

24) W player 1 is the row player and player 2 is the column player in games
L H L M H

’ IV iak rnd 3 Uilab o f cdyihen
" |:|:..1 ,.r.) | [P u{..f 7.8 x..'.]

[Question ID = 5867
1. I's payoff in a Hash eguilibrium of &' cannot  be less than 1's payoff in a Mash eguilibrium of G

[Option b = F1487]
I I's payoff in a Mash equilibrium of G cannot be bess than 3°s payoff in a Mash equdlibriuom of G

[Ootion 1D = 2148T)
3. I's payoff in a Hash equilibrium of & must be egual to 2°s payoff in a Mash equilibriom of G

[Option 0 = Fl4bd]
4. I's payoff in a Mash eguilibrium of G may be higher than 3*s payoff in a Mash equitibriom of &

[Option ID = 21485]

Correct Answer -
® I's payoff in a Hazh equilibrium of G may be higher than 2°s payoff in a Mash equilibriom of G

[Option ID = 21485]

25) Consider an exchange economy with agents 1 and 2 and goods x and y. Agent 1 lexicographically prefers x to y, i.e.,
between two non-identical bundles of x and ¥, she strictly prefers the bundle with more of x, but if the bundles have the
same amount of x, then she strictly prefers the bundle with mare ol y.

Agent 2°s utility function is . (yy) =x by

Agent 1's endowment E{m}.m}:l = (0,14} and Agent 2°s endowment is {”':-“'E]= {10,0)



FirstRanker.com
https://firstranker.com/
https://firstranker.com/

=| » FirstRanker.com

|L!,mﬁjm1§,pker's choice

3. [0,1] www.FirstRanker.com www.FirstRanker.com
[Option ID = F1487]
3 00,1]

[Ootion 1D = 23488

4
[Option 1D = 27485
Correct Answer -
= 1]
[Option ID = 21484

16) Consider an exchange economy with agents 1 and 2 and goods x and y.

dgent 1 lexicographically prefers y to x, i.e., bebween bwo non-identical bundles of x and y, she strictly prefers the bundle
with more of ¥, but if the bundles have the same amount of ¥, then she strictly prefers the bundle with more of =

ﬂ'g&l'lt 2's ul'.il.1l:'|| Tunction s H'\-[.iu'l'] =iy

Agent 1°s endowment is {wlw!) = (0,10) and Agent 2°s endowment is {uwd.wi )= (10,0)

The set of competitive equilibrium price ratios p, /p, for this economy is

[Question ID = 5869]
1. [}

[Option iD= 21400
2. [0,1]

[Option ID = 21471]
1 10,1]

[Opticn ID - 21472]
q.

[Option 1D = 21471

Correct Answer --
& |0, 'I]

[Option 1D = 21472]

17) Consider an exchange economy with geods x and y, and agents 1 and 2, whose endowments are (ulwl) = (0,9) and
.[u_,i_.ui}= .:m_g:.l’ﬂ-!p&ﬂ‘l'u‘fl‘p.
The wtility functions of 1 and Z are , /v ) = minfx,y] @ y,{x, ¥) = minfx,y] Fespectively.

The competitive equilibrium price ratio ;7 is

[Question ID = 5870]
1. %10

[Option ID = 21474]
. 10/9

[Option ID - 23475]
LR

[Option 1D = 21474]
a0

[Option ID - 23477]

Correct Answer --
LY}

[Option ID - 23477]

28) Consider an exchange economy with goods x and y, and agents 1 and 2, whose endowments are |,! 1) = (n,9) and
{wl.wl) = (10,0) Fespectively.

The l.lHHt!f functions of 1 and 2 are 'ul_l::_'r] = mln[:_}l] aimd '":'L"'u"'] = rer[xl_!,l] FE‘SPE’I:HHL*

The n:ﬂl'l'ﬂ!rétltl\-& equilihr'lum allocations ars
www.FirstRanker.com

[Question ID = 5871]
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[Ootion 1D = 33475
3. 1 gets fu. y) and 2 gets (9 - x, 10 - y), where x & [8, 9) and y = 10
[Dption il = 3 Ta8]

4. 1 gets (%, y) and 2 gets (9 - = 10 - ), where == 9 and y & [9, 10]
[Option 1D = 23487

Correct Amswer =-

® 1 gets (., yland 2 gets {10 - x, 9 -y, wherex & [9, 10) and y = §
[Ootion 1D = 33475

19) Consider an exchange econofry with goods x and y, and agents 1 and 2, whose endowments are (o1 wl) = (0,5)and
(k. wl]) = (10,0) respectively.

The wtility functions of 1 and 2 are u,(x, v) = min[x,y] and u,{v, ¥ = minfx,y] respectively.

The allocation that gives (10, 9) to 1 and (0,0) to 2 is

[Question ID = 5872]

1. Baretoeffick=nt but not & competitive equilbnum allocstion

[Cotion 1D = 21487
I. meither Pareto efficient nor a competitive eguilibriom allocation

[Ootion 1D = 2148%)
3. & competitive equilBnium allocation that s Pansto efficient

[Cotion 1D = 21484
4. & competitive equilbrom allocation that s ot Pareto efficient

[Option 1D - 21485]

Correct Answer --
& & competitive equilbrium allpcation that s Pareto efficient

[Option ID - 21484]

30) Given anon-empty S8t C oo forevery p o ge let cip) @ C be such that 4 ru0 = 5 o for eviery ¢ & C. Then, the

function .. gy - B given by ¢(p) = p.cip)is

[Question ID = 5873]

1. linear

[Option ID = 21484]

I corvex

[Option b = F1487]
1. concawe

[Ootion 1D = 234080

4. guasi-convex
[Option 1D = 23405

Correct Answer -
& Concave

[Option ID = 234080

31) Given a non-empty set Co gn, for every p @ gy, let cip) @ C be such that p q(p) g p, o for every ¢ @ C. Then, the
function ¢ gy - R given by ¢(p) = p.cip)is

[Question ID = 5874]
1. homogencus of degree O
[Option ID = 21450
I homogenous of degree 1
[Option D = F1451]
1. homogenous of degree -
tion ID = F148F

4. non-homogenous
[Option 1D - 21491] www.FirstRanker.com

Correct Answer -
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32) Suppn-:.e u: B = B, i5 strictly increasing andm: SUPFEmLIm
x = w(x)f o —uix)] s

[Question ID = 5875)
1. ot well defined for some = g

[Cotion 1D = 21454
¥ bounded above

[Option b = F1455]
1. wnbounded abowe

[Oticn 1D - 21496)
4. mot strictly increasing

[Option ID = 21457]

Correct Answer -
& wnboundesd above

(Option D - 23456

33) The interval [0, =) can be expressed as

[Question ID = 5876]

1. ﬁ:_, {a.m], w‘l‘u:mead'l““ = & raborel nuember

[Option iD= 145

I b_ljlmfeeu““arﬂbhuarﬂlmm

Ures [y,

eE‘iEaﬁlupper mmu. [ﬁ}emallﬁk'?

[Opticn ID - 21454]
n —i [ﬂ:!.l'h:ll wihere each “Hm ‘b.ll 15 ani irrational mumbsr

[Cotion 1D = 21500
4. &l of these

L

[Option 1D - 23501]

Correct Answer --
L =, {a,m), where each 5 & a rational number

|l:':|:|t||:|-n D= m@a:]

34) M 5 g2 gis given by

N [ o e o R T R 1]
.yl Eﬂ. i x, )} = ()

then

[Question ID = 5877)

1. f iz differentiable at {0, 0} and both partisl dervatives at §0, 09 are 0

[Cotion 1D = 2350F)
2. f iz nom-differentiable at (0, O} and both partial derivatives at (3, 0) are O

[Ootion 1D = 21501
3. fis differentiable at {0, 0} and nesither partial derivative at @@, Oy 150

[Option Il = F1504]
4. f s mon-differentiable at (0, 0) and neither partial derivative at (0, 0) exisks

[Ootion 1D = 21505
Correct Answer --
& f is non-differentiable at (0, 0} and both partial derivatives at 0, 0) are O

[Option 1D = 21501

35) Suppose f; g - | is a twice-differentiable function that solves the differential equation p2p _ gy — ¢ | = g Over g and

satisfies the condition f(p) = 0 = f(i) for some ; > g Then,

[Quasticn I - S878]

1. f has positive and negatire values over (0, k)
[Cotion 1D = 21504]

www.FirstRanker.com

I_ f has only positive values over (0, k)
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[Option 1D = 21509]

Correct Answer -
® f has only negatiee valses over (0, k)

[Option 1D = 21508]

36) Letgbe the collection of sets ¢ _ g satisfying: for every , o g, there are real numbers ; and g such that , - 5 and
xEf{ab)cE

Let [ be the collection of sets g c g satisfying: for every ; ¢ g, there are rational numbers 5 and j, such that ; -  and
sefgb)cl

then,

[Question ID = 5879]
- gogandBa(
[Opticn 1D = 21510]
I rcpandBag
[Opticn 1D - 21511]
LI
[Opticn 1D = 21512]

A Maither . [ 0o LB

[Option 1D - 21511]

Correct Answer --
L ] L™ ':
[Option 1D = 23511)

37) The set {y o e B x> and y = Jpy = g7} 8

[Question ID = 5880)
1. & linisar :-ub&paceufl:

[Cotion 1D = 21514)
I comvex

[Option 1D - 21515]

1. mon-Cormvex

[Otion 1D = 21514)
4. & corvex polytope

[Option ib = ¥1517]
Correct Answer --
& CONVEX
[Option ib = ¥1515]
38) Suppose the distance between y y ¢ g s given by |p _ ) and f; g - g 15 & continuous function. If £ is an open subset of g
» then [y = IIH:]EE]“-

[Question ID = 5881]

1. A&n open subset of g

[Cotion 1D = 2151E)
I & closed subrset of g

[Option I = 3351%]
1. Meither an open, nor a closed, subeet of

[Option il = F1534]
4. An open and dosed subset of B

_MU
Correct Answer :- www.FirstRanker.com

[ | * Anopensubsetol g



FirstRanker.com
https://firstranker.com/
https://firstranker.com/

l h s lar | raa-
i 1o e Atiewinactiye hambers By kﬂ] 'in"ahk_nr_r_-m www.FirstRanker.com

[Question ID = 5882)

1. akmw

[Option 0 = F1532]
I ke

[Ootion 1D = 21537)
3. They are equal

[Option il = F1534]
4. It depends on the value of k

[Option D = F1535]
Correct Answer --
& [t depends on the wvalue of k
[Option D = F1535]
40) Consider the matrix 4 — {W“* -mﬁj
Znd  copp

where g g [0, 2x)- The inner product of vectors p = (g, p,) 80d w = (i, w,) In g2 s defined bY (W) = vw, + rowe 50, for
the vectors ,, and ,,, in g2

[Question ID = 5883)
1. (A Adw) = (r,w)
[Cotion 1D = 21534
Lo [AwAw) > (e w)
[Ootion 1D = 23527
3 (v Aw) < (v, w)
[Ootion 1D = 2352E)
- The comparison of (4p, du) 2nd du,wh depends on the value of 5
[Option il = F1534%]

Correct Answer --
* v dw) = (r.w)
[Ootion 1D = 21524

41) Let|y) be the greatest integer that is less than or equal to 4 ¢ 5. The function ;g - g, defined by fiy) =x = |yJfory o &
B

[Question ID = 5884]

1. Left-discontinsous at an inkeger

[Option b = F15330]
I. Right-discontinuows ak an integer

[Option b = F1531]
1. Left discontimuous and right-discomtinueous ak an integer

[Option D = ¥1533]
4. Dzcontinuous everywhene
[Option b = F151Y]

Correct Answer -
& Left-cisoontinuous ak an integer

[Opticn 1D - 21510]

42) Let[x] be the smalest integer that is greater than or equal to x ¢ g The function iR <R
defined by fiz]) = Jx] —x forze® is

[ﬂu&sthn ID = 5885]

- Left-discontinuous at an inkeger

[Option ID = 21514]
E. Rig-iacugionovs ot intwpe www.FirstRanker.com

[Ction 10 = T3505]
1. Left discontimuous and right-discomtinueous ak an integer
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Correct Answer z-
& Bight-discontinuows at an integer

[Option ID = 21515]

43) Let |,| be the greatest integer that is less than or equal to , ¢ . Let [,] be the smallest integer that is greater than or
equal to ¢ g The function 1, g - g, defined by fix) = [v] =z for y e g 15

[Question ID = 5886]

1. Left-discontinuous at an inkeger

[Option |0 = F15 1]
I_ Right-diecontinuows ak an integer

[Option D = 3353%]
1. Left discontimuous and right-discontineos at an integer

[Option |0 = F1540]
4. Dzcontinuous everywhene

[Opticn iD - 21541]

Correct Answer --
# Left discontinuous and right-discontinusous at 2n integer

[Option 1D - 21540

44) i
A=[x R} xz 0y =0xrz1)

F={lxWeRxs0y2zbyE -1)
and

£={a+blaEdbe B
Then,

[Question ID = 5887]
T {{r.y) & BPx = 0,5 = 0] iz & mubszet of €

[Option D = F1543]
r 3 [z, %] € Er= Oy =Q)isa subset of £

[Option I = 33541]
Y {(x.¥) € Bx = 0,y = 4] Is 2 subset of {

[Option i = F15a4]
4. [[-':._!-'] € H:h > 0,¥ ={|] iz & subset of C
[Cotion 1D = 21545

Correct Answer -
™ [{x,y] € R = 0y >0)=2 subset of C
[Option ib = F1541]

45) Consider a 4 x 4-matriz &. Obtain matriz B from matriz A by performing the fellowing operations in sequence:
(1) Interchange the first and fourth columns, and then

2] Interchange the second and fourth rows, Then,

[Question ID = 5888)
1. det & =det B

[Opticn 1D - 21544]
I deta #® det B

[Opticn ID - 21547]
1. detB o0

[Option ID = 21548
4. det B0 www.FirstRanker.com

[Cotion 1D = L3545



FirstRanker.com
https://firstranker.com/
https://firstranker.com/

=| ilm'stﬂanker.cnm

whitsicanker's choice www.FirstRanker.com www.FirstRanker.com

46} The maximum valus of flx. ¥} = xw subject io (x| = || and x| + |y < L i

[Question ID = 5889]

1. 1/4

[Option b = F1554]
F I P

[Option ID = 21551]
14

[Option 1D - 21552]
42

|Cotion 1D = 21551)
Correct Answer --
® 1/4

[Option ID - 21550]

47) Consider a decreasing differentiable function ;. g . g, and an increasing continuous function r.x_ ~g.- fFr.R, - R,
glxi
satisfies () ,J- fit)de TOF every ;e g, then F is
1]

[Question ID = 5890]

1. Increasing over [0, a] and decreasing over [a, -, for some 2 = 0

[Opticn iD - 21554]

I. Decreasing ower [0, a] and inpreasing over [a, gql. for some a = 0

[Option ib = ¥1555]
1. increasirg

[Option D = F1554]
4. Decreasing

[Opticn ID - 21557]

Correct Answer -
#» Decreasing

[Opticn iD - 21557]

48) i . g ~ gand ;. g - gare defined by
iz = 0 i &5 ds ratiena 0, if & iz drrational

and
¥, If xis ireational glxd ={ ' i x5 rarronal

Then b, g — g given by hix) = flx) — g(x) I8

[Question ID = 5891]

1. Inpactive but not surjectie

[Option b = 31558]
I. Surjective but not injective

[Option ID - 21555]

1. Meither imjective nor surjectie

[Option I = 335&0]
4. Bijective

[Cotion 1D = 21541]
Correct Answer -
® Eijective

[Cotion 1D = 21541]

49) Given nonempty subsets of g2, say y,,...,1,, let

E F%IIIII Pt L |.=!."'I

&= ]
Fixp &g’ For a nonempty set X g¥, let B{le‘ﬂmm\kﬂhﬂﬁm

Suppose there exists .+ oy such that , o = pry 375, and far every ; there exists . - 3 such that , o = pip ¥



FirstRanker.com
https://firstranker.com/
https://firstranker.com/

=| », FirstRanker.com

A Firstranker's choice
: www.FirstRanker.com www.FirstRanker.com

[Question ID = 5892 ) .
V- w{p¥") < By vlp ) or vip, ) “E,-L Hp.E)
[Option D = F1543]
L wip,¥") = Dy v(p.F)
[Option b = F1547]
% vl ¥) < Ky o(p;)
[Option b = F1544]
s vlp.¥') > Ky o(p;)
[Option b = F1545]
Correct Amswer =-
® v(p¥")= Li v(p¥)
[Option b = F1547]

S50)
IfT4 =

da L RS
T T N ]
;|

LU - -
_'.l:ll:-l:l

and 47 is the transpose of 4 then gui4Ty) 5

[Question ID = 5893)
1. 1

[Option ID = 21564]
S [

[Opticn ID - 21547]
14

[Option ID = 21544]
4. -4

[Option b = F1545]
Correct Answer -
L L]

[Opticn 1D - 21544]

» Fi kE r.com www_FirstRanker.com
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